Rabboni with python

Python ZZ4CERRTE F5E

1. 55t % Python B 74EIL Nakam#r i python(windows)
https://www.python.org/downloads/
2. {#FH python ZZZE rabboni B /&Y library
i EHARGEE SRR SRR IT(CMD)
ii. %g;)\: pip install rabboni==1.73 (B HimeHThA 1.73)

Rabboni 1%

1. A& 6 #f sensor » 3-axis JI#E[E E 3-axis fPiZF%
i HEE 1 1CM-20689 A2
i.  AJfEA] Python EZZFER USB APIRHEFE HIZK 5;5%
2. NE counter GTEIIAE

i.  A]{EEH Python EEZFEH USB APl RHEE HIZK

ii. B[ {di ] Python EZZFEEA USB APl & counter BFES
3. PYREFIRE

i. BETER A

1. B dongle ¥ _FEEHK USB
. FHBX rabboni » % N EE SR EETE T
3. {7 python BEZEFHREE code(%l example code)

ii. USB fE =
1. /& rabboni {8 USB 7 _FZERES

2. T python USB #HEE code(4] example code)


https://www.python.org/downloads/

Rabboni BEEZE#EIE — Python APl Example code

1. DUN REEZFHY example code » E{EI LT 45R
i IEEETRAEENE FAEE (T HE A S E 2 & /5 Rabboni)
L R RRAYNERERETH AR
i, KIEEEAVRIFEE counter
iv.  FEEREEFREIREE csv 1E
v. BB
2. FHEE APIE5& N —HE “Rabboni EEZEHEHEE — python API”

# -*- coding: UTF-8 -*-

from rabboni import *

rabbo = Rabboni(mode = BLE) #5i-5 &—{E¥){4
rabbo.scan() #F AT A EE ZF Device
rabbo.print_device() # ¥I| - F7A BELZE Device
rabbo.connect("D1:FA:FO:F2:12:29")#{(¢ & MAC &%
rabbo.discover_characteristics(#RHi T A IR IS
rabbo.print_char()#%I| A RIS BlESE

# print (rabbo.characteristics)
# print (rabbo.Status)

rabo.set_sensor_scale(acc_scale = 16, gyr_scale = 2000) ## ¢ ENIEEIRFCIEEAY R NHIE B
JoE TE STHESR 1% P AR AT T RE 2L Bk B

rabo.set_count_threshold(threshold = 2500)## Z%7E threshold = 2500mg
rabbo.read_data()#:5 BV E R} WA

try:
while True:#—EfTHIE R HE4EREZ
rabbo.print_data()#print &}
if rabbo.Cur_Cnt == 100:
rabbo.rst_count(mode = “Both”)
except Keyboardinterrupt:#4& HFZ =,
print('Shut done!')
print (rabbo.Accex_list)#E[1H £1]4E R AZ FCHF Y P A Acex (B
rabbo.stop()#{= 1+ dongle
rabbo.write_csv(data = rabbo.Accx_list,file_name ="AccX")#/E Accx B csv 12
rabbo.plot_pic(data = rabbo.Accx_list,file_name = "AccX",show = True)#& Accx = H [B ZE 10 {FFE




Rabboni EZZFEHE — python API
HIiE API
API 4 78# fiE Return B
Rabboni(mode = “BLE”) Class #f# —FH%R%: | None

HEEVFGETE I
=

Rabboni.scan()

FREMT AT EE ZF device

FiT7A device Y441 S AHREE

Rabboni.print_device() ENHATE None
Rabboni.connect(MAC) H A MAC > 7H#$5 Device

device
Rabboni.discover_characteristics() P, device FERYAR | None

%
Rabboni.print_char() S FTAE IR (RS None

discover)
Rabboni.disconnect() (e S None
Rabboni.stop() e dongle » %35 | None

AR > DL T

K HBL T $E

#RIE ~ AL API
AP| 7 e SHfRRE

Rabboni.read_data() SEHUATA sensor & None

o VRSERIETT

PRI S BT & 2k
Rabboni.print_data() 5|, read_data()f1:8 None

FIHVERE

Acc_x,y,z

Gyr_x,y,z

Count
Rabboni.rst_count(mode) EEAEE L HEHY count | mode:

“Both”,”Store_cnt”,"Cur_Cnt”
RERNIEIRY count #ETT

reset » Default /% Both

Rabboni.set_sensor_scale(acc_scale

,8yr_scale)

TRIE sensor & H#i[E]
(CE))

acc_scale:PhH,2,4,8,16

B

gyr_scale:PME,
250,500,100,2000

o e s E B By B A
1T SESTCIRHER T

Rabboni.set_count_threshold(threshold)

FL7E Counter 13

threshold: int, EEf7 /5 mg »




threshold

ex:2500->2.5g > 3 LT
FAFRSEHY threshold 55/RF %
TE B BT BRAMEL T 0 BE
SR HEAR P TR -

Rabboni.write_csv(data,file_name)

i data(list){HELE
H esv FEZE > A DA
file_name di%4

dataniE » ER}
file_name:ME » fE44

Rabboni.plot_pic(data,file_name,show)

& data(list)/{EHAELE
HE R - I EFE
5{5

datauME » B}
file_name:35&H > f24 > 25
RENERI N EFAE
show : THE% By True &R
&) - False RIS & & URE]
&

S AP
AP 24 1H fif R SR
Rabboni.Status P 0:disconnected

1:connected

Rabboni.Hex_data ‘= N sensor data #Y 16 | string
HEAE

Rabboni.Accx BN Acex HY{H float

Rabboni.Accy ‘= Acey HY{E float

Rabboni.Accz =N Accz IYH float

Rabboni.Gyrx = Gyrx HY{H float

Rabboni.Gyry = Gyry HY{E float

Rabboni.Gyrz ‘= N Gyrz IVE float

Rabboni.Cur_Cnt ‘= I Cur_Cnt FYH int

Rabboni.Store_Cnt HEE AT BRIy Int
Store_Cnt

Rabboni.Acc_char HAT Acc (B H)AVELE | int

Rabboni.Gyr_char HEj Gyro (EH))AVEL | int

Rabboni.Accx_list PR B EIGER | list
Y Accx

Rabboni.Accy_list PR B RIGER | list
Y Accy

Rabboni.Accz_list CPREER B RIGER | list
Y Accz

Rabboni.Gyrx_list PR R HAIGE R | list
i Gyrx

Rabboni.Gyry _list CPREE R ERIAEHR | list
i Gyry

Rabboni.Gyrz_list CPREE R ERIAEHR | list




iy Gyrz

Rabboni.Cnt_list

PRI H G
Y Cur_cnt

list




Rabboni USB & — Python API Example code

1. DU B USB Y example code » & E] DL F45E5R
i. HEAEE
i. R 1R EY /NS REE HH AR
iii. WG E R R EE counter
iv. B R
2. THEE APIE5& N —HE “Rabboni USB 7## — python API”

from rabboni import *

rabbo = Rabboni(mode = "USB") #5i- 5 & —{E¥7){4

rabbo.connect()#7#4%E5 |- rabboni » G &5l

print ("Status:",rabbo.Status)

rabbo.set_sensor_scale(acc_scale = 4, gyr_scale = 2000) ## =5 ENEEIRFCIE &Y KEuE 2
e TR TE SRR 1 P LA BT TR FE B B

rabo.set_count_threshold(threshold = 2500)## Z%7E threshold = 2500mg

try:
rabbo.read_data()
while True:#—EITENER HEI&EFE
rabbo.print_data()#print &}
print (rabbo.data_num)
if rabbo.Cur_Cnt > 10:
rabbo.rst_count() #2855 count = delay — [~
if rabbo.data_num>100:
rabbo.stop()J#{= 1 2 1E
break

except Keyboardinterrupt:#4& BHAZ =,
print('Shut done!")
# print (rabbo.Accx_list)#E[] 245 A2 HF Y AT A Acex (B
rabbo.stop(J#{= 1FEE




Rabboni USB 7 — python API

Hi'E API
API 47 fiA R Return {H
Rabboni(mode = “USB”) Class #f# —BHIRIEE | None
E—EYHEE WES
5=
Rabboni.connect() %3 USB 7H43% device » None
WIS B b
Rabboni.disconnect() EnEAl4S o BEHE USB None
Rabboni.stop() EnBElR4% o BETE USB None
#E/E ~ SEHL API
API 7 firerE SRR
Rabboni.read_data() SEEVATA sensor &} > None
WMRSERABETT - BTERY
S G
Rabboni.print_data() HIt read_data()FT:E%] | None
R
Acc_x,y,z
Gyr_x,y,z
Count
Rabboni.rst_count(mode) EEIEE L FEAY count mode:
“Both”,”Store_cnt”,”Cur_Cnt”
iRFR[EHY count #EFT

reset > Default /£ Both

Rabboni.set_sensor_scale(acc_scale

,gyr_scale)

AT sensor = By & [ (+-
i [E])

acc_scale:PiE,2,4,8,16

=

gyr_scaleuhiE,
250,500,100,2000

AR eras AE Bk B oy B A
17T SE TR T
8 -

Rabboni.set_count_threshold(threshold)

L7E Counter {Y
threshold

threshold: int, EE{i7 /5 mg »
ex:2500->2.5g » f 3 S L
BHFRSEHY threshold

AR s E B g B 5y B

7 RSB T
gap -

Rabboni.write_csv(data,file_name)

5 data(list){FH#E 5 H
B AP

CSV M&E =%
file_name @4

dataudhiE Bk}
file_name:ME » fE44

Rabboni.plot_pic(data,file_name,show)

i data(list){HAERE
&5 o S EE K

data:ME > B}
file_name: 51 » fE4% - 5




RHEAERINEFE

show : FHEY Fy True FEI~
&5 - False RN & #URE]
I

ZH API
AP| 47 fif e Return {H
Rabboni.Status R 0:disconnected

1:connected

Rabboni.Hex_data ‘= | sensor data HY 16 string
HEAE

Rabboni.Accx BT Acex HY{E float

Rabboni.Accy BN Acey HY{H float

Rabboni.Accz BN Accz fV{E float

Rabboni.Gyrx = Gyrx HY{H float

Rabboni.Gyry ‘= N Gyry HY{E float

Rabboni.Gyrz ‘= Gyrz FY{E float

Rabboni.Cur_Cnt ‘= | Cur_Cnt Y{H int

Rabboni.Store_Cnt SEB AN $EAY Store_Cnt | Int

Rabboni.Acc_char H AT Acc (& HI)AT#HE] int

Rabboni.Gyr_char E il Gyro (EANAVEHIE | int

Rabboni.Accx_list GCPREEREE ELAIGE AT | list
Accx

Rabboni.Accy_list ACPREERE ELAIGE AT | list
Accy

Rabboni.Accz_list PR BRI REY | list
Accz

Rabboni.Gyrx_list WFREPEE EFIAGETEAY | list
Gyrx

Rabboni.Gyry_list PR RIS RAY | list
Gyry

Rabboni.Gyrz_list PR E E RS AT | list
Gyrz

Rabboni.Cnt_list PR E E RS AT | list
Cur_Cnt

Rabboni.data_num Blay list 485465 | int

(B By sampling &)




